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O (™M m2HXH) 704,015H = 691,155H, 12,860%H (1.8%) Z4
- (=0 HIE HA) 14.0% = 13.8%, 0.2%p &2
- (LH=Q ZA) 605450 = 596,067H, 9,383% LA, 1.5% &AL
- (/=9 &) 98565H = 950888, 3477 LA, 35% LA

O (dE) 2 27% &4, o4 6.0% F7t

23) HXt 89.2%, M 10.8%

ol H|B) Hd 14.0% M 11.8%

O (HEE) 40t O|stoA F7t, 50t o]y 2E ABOA Z2(70Ci O,
60CH Za #)

) 50CH(34.9%)>60LCH(24.2%)>40CH(19.8%)
- (/=2 H|E) 30CH(24.0%)>20CH O|5}(20.6%)>40CH(14.6%)
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) 24, B85, U, MB30AM 571, LIHX| X0 25 Z4A
®=F, M5, 49 242 #AH)
- (KY9Y 23) F7((22.3%)> A 2(15.6%)> 2 H (6.2%) > T 2H5.9%)
S (Lf=2h MAHO 40.6% TEH X, A7((21.1%)>M2(13.1%)> 21 M (6.3%)

(=) THM 2| 66.9% T=H X, ME(31.4%)>87((29.9%)> 21 (5.6%)

- (=2 HIB) M2(27.6%)>871(18.4%)>MB(16.5%)> 1 H (12.4%)
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2. E|XZH mISHx 5

(FH) 704,015F = 691,155, 12,860 (1.8%) LA

(=0 HIF &) 140% = 13.8%, 0.2%p L2

- (=l &) 6054508 = 596,067F, 9,383 LA, 1.5% LA
(A= ZA) 98565 = 95088%, 3477H ZA 35% UA

T <E 3>9 F2 6/ HT5E LSHA S HE2 7IEF HF0| M2lE[of XO|7F s + AU

dlo

O 48 W =¥ uIZNXl 5Z(21.68 CHH| 22.6" H3}H
C(dd H|m) L 27% A, oM 6.0% 37t

(49 23x) X} 89.2%, 44 10.8%

(=2l H|E) Hd 14.0%, 4 11.8%

- (&X}h) 633,8868(90.0%) = 616,808H(89.2%), 17,078T(2.7%) &=, 0.8%p HA

(2=l HFE ZA) 141% = 14.0% 0.1%p L
- (L=Ql ZA) 544,283H = 530,517Q, 13,766 ZA, 25% ZtA
(@)=l ZA) 89,603 = 86,2918, 3,312FH LA, 3.7% A

- (04X} 70,1298 (10.0%) = 74,347 (10.8%), 4,218H(6.0%) 57, 0.8%p 57|

(2=l HFE ZA) 12.8% = 11.8%, 1.0%p &
- (L= =71 61,1678 = 65,550, 4,383 =7}, 7.2% 57}
- (=0 ZA) 8962~ = 8,797&, 165FH A 1.8% LA

<33 3> 48 U o=old m|ZNXt FZ sE(21.68 CHH| 226 H3h

6,000 r 8.0

4.000 T S7| 0| S A=)
2000 —a— i S7| CiH| 52 SLE(%) - 6.0
’ 4,383
- 4.0
9,383 -3,477 -13,766 -3,312 -165
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-4,000 - 20
-6,000 0.0
-8,000
-10,000 - -2.0
-12,000
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-16,000 6.0
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<E 1> 48 Y. e=o¥ n3HXt 5Z s(21.68€ CHH| 2268 HI}H

o 2021.62 2022.62 dd =I| iyl 52
- AL (Y)| PHUI(%) Ol I 2 () A AHI(%) QAR(H) | SLE(%)
A 704,015/ 100.0[ 100.0| 691,155 100.0| 100.0 -12,860 -1.8
&A | L=l 605,450 86.0 86.0| 596,067 86.2 86.2 -9,383 -1.5
=0l 98,565 14.0 14.0 95,088 13.8 13.8 -3,477 -3.5
A 633,886  90.0| 100.0| 616,808/ 89.2| 100.0 -17,078 -2.7
=X | =0l 544,283 77.3 85.9] 530,517 76.8 86.0 -13,766 -2.5
2l=0l 89,603 12.7 14.1 86,291 12.5 14.0 -3,312 -3.7
A 70,129 10.0| 100.0| 74,347 10.8/  100.0 4,218 6.0
CIXt | =0l | 61,167 8.7|  87.2] 65,550 9.5 88.2 4,383 7.2
Q| =20l 8,962 1.3 12.8 8,797 1.3 11.8 -165 -1.8
Z: LEHASE 434D S0 8 3% +HY 5+ UL

Az dE22ASH = DB

O AdE L o=l u|ZNXt FZ(21.68€ CHH| 22.6€ H3}

- (HPE H|il) 40t O|SlolA F7t, 50CH O RE A
(70CH O] &, eoCH ZA #H)

(AEHYE 23T 50C(34.9%)>60LCH(24.2%)>40LH(19.8%)

(2/=9! H|E) 30LCH(24.0%)>20CH O|5}(20.6%)>40CH(14.6%)

- (20CH O|5t) 44,3207 (6.3%) = 52,359H(7.6%), 8,0398(18.1%) 57}, 1.3%p F7I

- (2=l HE ZA) 24.0% = 20.6%, 3.4%p L
- (=2l 37h 33,685% = 41,5719, 7,886 S7I, 23.4% F7t
(= 37} 10,635% = 10,7889, 153% 37} 1.4% &7t

- (30tH) 69,0237H(9.8%) = 72,9868(10.6%), 3,963H(5.7%) 57, 0.8%p 57}

- (2= 0l HIF Z) 262% = 24.0%, 2.2%p LA
(L=l B7h 50,922 = 554749, 4,552F 37, 89% 57t
(=2l ZA) 181018 = 17,512, 589F Z2, 3.3% &4

- (40tH) 134,188 (19.1%) = 136,645 (19.8%), 24578 (1.8%) 57, 0.7%p 57}

(=2l HIFE ZA) 151% = 14.6%, 0.5%p T2
- (LH=21 =7 113,882% = 116,747H, 2,865H =7} 2.5% &7}
S (QIZ=Ql ZA) 20,306H = 19,898, 408Y ZtA, 2.0% AL

- (50CH) 244,003F(34.7%) = 241,190H(34.9%), 2,813F(1.2%) &H=, 0.2%p S7t

- (2= HF ZA) 13.0% = 12.9%, 0.1%p &2
S (LH=01 ZEA) 212,228 = 210,014F, 2,214H 24, 1.0% 244
(QI=Ql ZkA) 31,775H = 31,176F, 599H ZtA, 1.9% LA




- (60CH) 186

,692(26.5%) = 167,3408(24.2%), 19,352 (10.4%)

7=F¢’

2. 3%P kAN

- (2= HE &) 9.0% = 8.9%, 0.1%p &4
(U= ZA) 169,864H = 152,4299H, 17,4358 ZtA 103% LA
Q=0 ZA) 16,828 = 14911&, 1,917F ZA, 11.4% A
- (70CH 0|4 25,789 (3.7%) = 20,635 (3.0%), 5,154 (20.0%) L=, 0.7%p 2L
(2I=Q HIE 571 3.6% = 3.9%, 0.3%p =7} |
(LH= QI ZkA) 24,869 = 19,832, 5037H ZA, 203% A
(=0l ZtA) 920 = 803, 117H ZA, 12.7% LA

| = S o =3 =
<3 4> AP L A=AE L INX FZ S(21.63 CHH| '226F M3}
10,000 - 300
L 250
5,000 20.0
7,886 153 4,552 2,865 [ 150
A -589 -408 2214 599 17,435 -1,917 5,037 117 [ 100
f89)] [25] 50
-5,000 14
[14] o
5.0
-10,000
-10.0
-15,000 IR | =2+ olgl -15.0
== Z7| {H| 3L SLHE(%) -20.0
-20,000 250
@ | u=e 3o | uRe el | yRe  oR | uRY 2R | UBQ 9B | U=l o=l |
20tHol3t ‘ 30CH ‘ 4ot ‘ soCh ‘ 60LH ‘ 70CH Ol &
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<E 2> @Y U] o=ld u3HX 54 s&(21.6 CHH| '22.6 H2h

o 2021.6& 2022.63 dd S| Ol &2
B eI =~(") 2HH|(%) oI~ (") F4H[(%) olA(Y) SAE(%
Al 704,015 100.0 100.0| 691,155 100.0 100.0| -12,860 -1.8
sl LH=29! 605,450 86.0 86.0| 596,067 86.2 86.2| —9,383 -1.5
2=0l 98,565 14.0 14.0/ 95,088 13.8 13.8| -3,477 -3.5
o0tH Al 44,320 6.3 100.0| 52,359 7.6 100.0 8,039 18.1
0l Li=el 33,685 4.8 76.0 41,571 6.0 79.4 7,886 23.4
2/=0l 10,635 1.5 24.01 10,788 1.6 20.6 153 1.4
Al 69,023 9.8 100.0, 72,986 10.6 100.0 3,963 5.7
3004 L=l 50,922 7.2 73.8| 55,474 8.0 76.0 4,552 8.9
2=l 18,101 2.6 26.2| 17,512 2.5 24.0 -589 -3.3
Al 134,188 19.1 100.0| 136,645 19.8 100.0 2,457 1.8
4004 Li=el 113,882 16.2 84.9| 116,747 16.9 85.4 2,865 2.5
2=l 20,306 2.9 15.1 19,898 2.9 14.6 -408 -2.0
Al 244,003 34.7 100.0| 241,190 34.9 100.0f -2,813 -1.2
5004 Li=el 212,228 30.1 87.0] 210,014 30.4 87.1 -2,214 -1.0
2=l 31,775 4.5 13.0| 31,176 4.5 12.9 -599 -1.9
Al 186,692 26.5 100.0| 167,340 24.2 100.0| -19,352 -10.4
60CH L=l 169,864 24 1 91.0| 152,429 221 91.1| -17,435 -10.3
230l 16,828 2.4 9.0] 14,911 2.2 8.9 -1,917 -11.4
7004 Al 25,789 3.7 100.0] 20,635 3.0 100.0| -5,154 —-20.0
ol &k LH=29! 24,869 3.5 96.4| 19,832 2.9 96.1| -5,037 -20.3
2 =0l 920 0.1 3.6 803 0.1 3.9 -117 -12.7

T OBAASE 23N SO Qo) £3 +3Y 4 US

A2 AMDEXBHE DB

O F82 67l 2EF2| W-2=QE m|ZHX} SH(21.68 CHH| 2263 Het)
- (HHl) 485991 = 4510734, 34918(7.2%) && U-2l=el = Za. Fel

HIZ 0.5%p 37t

- (LH=2Q! Z+A) 405,487H = 378,592, 26,895H LA, 6.6% LA
- (2=9Q! ZEA) 80,504 = 72,4817, 8,023H ZA, 10.0% ZA
- (R13'E H|w) Hj2HE, H|AS 7}, LIHX| 2E 25 4L

(BlZY B2E) 2505 (55.6%)>HES3(16.2%)>Hl &3 (12.8%)
(2=Q HIE) BE235(35.0%)>HESS(31.6%)>HI2HS(11.7%)

- (23S

QI5) 283,050F(582%) = 250,645H(55.6%), 32405H(11.4%) &L, 2.6%p HA

- (L= ZEA) 251,817 = 225,1729H, 26,645
- (QZFQI ZEA) 31,233E = 25473F, 57608 A, 184% LA

- (2=Q H[F ZA) 11.0% = 10.2%, 0.8%p &

EN
Y a2, 106% da

4) 202268 AX| MA| AEF F0A F2 67 HBO| XX|Eh= HEF2 653%L




- ('6'1

o

232) 80,762H(16.6%) = 72,920%H(16.2%), 7,842H(9.7%) LA, 04%p LA

- (2=Ql H[F B7h 31.2% = 31.6%, 0.4%p St
- (L= ZtA) 55526 = 49,867H, 56598 ZtA, 10.2% Z
(=0l Z+A) 25,236 = 23,053, 2,183H ZA, 87% 7:.

(B2S

A

6,495 (9.6%) = 43,127 (9.6%), 3,368 (7.2%) &#4, HE =H

4

20l HIE 7)) 344% = 35.0%, 0.6%p =7}

20l ZtA) 30,490 = 28,0179, 2,473% Z4, 81% ZA
20l Z+4 16,0058 = 15,110, 8958 Z4A, 56% LA

- a

(2l
Lf
Q|

—~

—

- (HH2+Z3) 49,224E(10.1%) = 57,527H(12.8%), 8,303H(16.9%) S7t, 2.7%p S7|
(=0l HE ZA) 11.8% = 11.7%, 0.1%p &2

- (L4=2l 371 43,396% = 50,788%, 7,392H =7} 17.0% =7}

- (=9 571 5,828 = 6,739%, 911H S7}, 15.6% =7}

- (HIA41S5) 15,8628 (3.3%) = 16,5008 (3.7%), 638H(4.0%) 57, 0.4%p 57}
(=l HE &) 79% = 7.1%, 0.8%p &

- (W= S7H 14,616 = 15322E, 706H =7t 4.8% =7}

- (2=l ZA) 1,246H = 1,178, 68 LA 55% ZA

- (EX3) 10,598 (2.2%) = 10,354 (2.3%), 244%E(2.3%) &=, 0.1%p 7}

- (2]=9Q HE 28) 9.0% = 9.0%
(LH=0Q1 ZtA) 9642H = 9426H, 216H Z+A, 2.2% A
(2=l ZtA) 956H = 928%, 28FH ZtA 29% ZtA
<13 5> F9 HSY U9 mZHX} L H(21.6% Y| 22.6Y H3}
10,000 7,392 e r 20.0
5,000  15.0

r 10.0

’ -26,645 -5,760 -5,659 -2,183 -2,473 »895/ -68 -216 -28 L 50
-5,000
}\ 00

15,000 El
f -10.0
20,000  -15.0
25 000 MY 57| e 52 AAND)
' —=—HE 57| H 52 5LE%) - -200
-30,000 t : : : t - -25.0

W= =9l \ = e=ol |8




<E 3> F8 NSY U 9|2 NZHX SZ HE(21.6% CfH| 226 3}
o 2021.68 2022.6€ dE SI| OHl 52
T oRx@)|  RaHI(%)  |0Ra@)] &%) |0asE)|s2E%)
Al 485,991 100.0 100.0| 451,073 100.0 100.0| -34,918 -7.2
&R =0l 405,487 83.4 83.4| 378,592 83.9 83.9| -26,895 -6.6
2|=09l 80,504 16.6 16.6| 72,481 16.1 16.1 -8,023 -10.0
H 283,050 58.2 100.0| 250,645 55.6 100.0| -32,405 -11.4
2E02| Lf=2¢ 251,817 51.8 89.0| 225,172 49.9 89.8| -26,645 -10.6
2|=0l 31,233 6.4 11.0] 25,473 5.6 10.2 -5,760 -18.4
Al 80,762 16.6 100.0| 72,920 16.2 100.0| -7.,842 -9.7
HEZ2Z| U=l 55,526 11.4 68.8| 49,867 111 68.4 -5,659 -10.2
2|=0l 25,236 5.2 31.2| 23,053 5.1 31.6 -2,183 -8.7
Al 46,495 9.6 100.0| 43,127 9.6 100.0 -3,368 -7.2
32z =0l 30,490 6.3 65.6] 28,017 6.2 65.0 -2,473 -8.1
2|=09l 16,005 3.3 34.4] 15,110 3.3 35.0 -895 -5.6
H 49,224 10.1 100.0{ 57,527 12.8 100.0 8,303 16.9
2= =9l 43,396 8.9 88.2] 50,788 11.3 88.3 7,392 17.0
2|=0l 5,828 1.2 11.8 6,739 1.5 11.7 911 15.6
H 15,862 3.3 100.0| 16,500 3.7 100.0 638 4.0
HIAHZ =9l 14,616 3.0 92 .1 15,322 3.4 92.9 706 4.8
2|=0l 1,246 0.3 7.9 1,178 0.3 7.1 -68 -5.5
Al 10,598 2.2 100.0f 10,354 2.3 100.0 -244 -2.3
s u=el 9,642 2.0 91.0 9,426 2.1 91.0 -216 -2.2
2=l 956 0.2 9.0 928 0.2 9.0 -28 -2.9

F 1) I3MAeE 250 S22 QA3 F2 £2TYE = US
2) 202268 oM TH HFT SOM =2 67§ HIO0| XAX|ot= HIS2 653%.
Atz - HEZ2XSHE DB

O XYY L el m3MXt SZ(21.68 CHH| 22.6% H3h

RIS )
Z2®FE, H
WEERCE:
CEXNIE

=i, 5, U, MBHM S7t, LM XFoM 2F
S BH 42 #H)
A71(22.3%)> M 2(15.6%)> 21 (6.2%) > 5 AH(5.9%)
ME(27.6%)>Z87((18.4%)> M B (16.5%)> 21 8 (12.4%)

)
)

(M=) 116,997H(16.6%) = 108,077 (15.6%), 8920H(7.6%) &AL, 1.0%p HA

(=0 H|E ZA) 27.7% = 27.6%, 0.1% 4
- (Lh=9Q1 ZtA) 84,556 = 78,236%, 6,320F ZA, 7.5% A
S (Q=0l ZEA) 32,4418 = 29,841, 2,600 ZA, 8.0% A

- (21H) 44,376H(6.3%) = 43,034H(6.2%), 1,342H((3.0%) Z2, 0.1%p LA

- (2=l HE &) 12.5% = 12.4%, 0.1%p &2
- (Lh=92l Z+A) 38,807YH = 37,6799, 1,128% ZtA, 2.9% ZAa
(@)=l Z+A) 5569% = 53558, 214%H ZtA, 3.8% A




- (B7l) 155,5058(22.1%) = 154,278F(22.3%), 1,2278(0.8%) &H=, 0.2%p St

(=0l HE &) 194% = 184%, 1.0%p &2
- (W= 57hH 125,410H = 125,816H, 406¥ 7t 0.3% =7}
(@)=l ZEA) 30,0958 = 28462, 1,633FH ZA, 54% A

- () 29,003 (4.1%) = 29,485 (4.3%), 482%H(1.7%) S7}, 0.2%p 57t

- (=9 HIE 71 40% = 4.2%, 0.2%p =7}
- (L=l =71 27,847H = 28,252%H, 405H =7} 1.5% 7}
Q=2 B7h 1,156H = 1,233"H, 778 S7t, 6.7% 7}

- (B8) 24,7628 (3.5%) = 23,933H(3.5%), 829H(3.3%) L, HIFZ EH

(=0l HIE 370 27% = 3.4%, 0.7%p 7t
- (LH=Q1 ZEA) 24,091 = 23,128%, 963H ZA 4.0% LA
- (= S7H 671H = 805YH, 134Q S} 20.0% 57}

- (§4h 44,1598(6.3%) = 40,872 (5.9%), 3,287B(7.4%) &L, 04%p AL

(2=l HE &) 25% = 2.4%, 0.1%p &2
C(Lh=9Q1 ZEA) 43,065 = 39,878%, 3,187H LA, 7.4% A
(R ZEA) 1,094 = 9949, 100H ZA, 91% LA

- (B'E) 29,225 (4.2%) = 28,162F(4.1%), 1,063B(3.6%) &L, 0.1%p &AL

(=0l HE 29) 35% = 3.5%
(= ZA) 28,209E = 27,190F, 1,019H A, 36% 44
(2= A4 1,016 = 972F | 44 U4 43% AL

- (E4h 11,326(1.6%) = 12,743Y(1.8%), 1,417B(12.5%) 7, 0.2%p St

(=2l HE &) 7.7% = 6.8%, 0.9%p 4
(=9 S57hH 10,450% = 11,880H, 1,430 =7}, 13.7% 57}
(= ZA) 876 = 863FH, 13FH A, 15% A

- () 185318(2.6%) = 17,302H(2.5%), 1,229 (6.6%) A=, 0.1% LA

(=2l HE 57h 3.7% = 3.8%, 0.1%p 37t
C(Lh=0l ZEA) 17,8398 = 16,6418, 1,198FH ZA, 6.7% 2

@)

(= ZHA) 6928 = 661FH, 31H LA, 45% 4L
H
o

(M) 23415F(3.3%) = 22,297H(3.2%), 1,118F(4.8%) &, 0.1%p HA

(=2l HE #HA) 1.9% = 1.7%, 0.2%p &2
(W= Za) 22968 = 21,9219, 10478 &4, 46% A
(=R A 447F = 376, 718 A4, 15.9% T4




(M5F) 19,203F(2.7%) = 17,193H(2.5%), 2,010H(10.5%) &=L, 0.2%p HA

- (2=l HE 37h 21% = 2.3%, 0.2%p 37t
- (L= ZA) 18,805FH = 16,804H, 2,001EH ZA, 10.6% LA
- (2= ZA) 398TH = 389%, 9& ZtA 23% LA

(CH) 19,254H(2.7%) = 18,7198 (2.7%), 535F(2.8%) &, HF =H

(=2l H[E 37h 25% = 3.2%, 0.7%p =7t
(= ZHA) 18,777 = 18,122H, 655FH LA, 35% LA
- (Q=Ql B71 477H = 5979, 1208 S7}, 25.2% =7}

(MB) 2,625F(0.4%) = 2,6378(0.4%), 128(0.5%) S7I, HlF =H

(2=l HE 37h 15.6% = 16.5%, 0.9%p 37t
S (Lf=0l ZA) 2,216H = 2,201H, 158 ZA, 0.7% 22
Q=02 =71 409Y = 436%, 279 =7} 6.6% S}

- (B3'H) 26,972 (3.8%) = 26,0487 (3.8%), 924H(3.4%) &, HIE EH

- (2=l HE 371 7.5% = 8.1%, 0.6%p 37t
- (Lh=0Q1 ZEA) 249528 = 23,947%, 1,005% ZA, 4.0% 2
- (=02 B7h 2,020 = 2,101Y, 81H Z7t, 4.0% =7}

(B5) 16,315H(2.3%) = 17,180 (2.5%), 865H(5.3%) 37, 0.2%p Z7}

- (2]=Q HE 2H) 6.1% = 6.1%
- (L4=921 =7h 15,3248 = 16,130Y, 806YH =7}, 53% =7}
- (2= 57H 991H = 1,050H, 598 =7}, 6.0% =7}

- (Z9) 20,646H(2.9%) = 18,570H(2.7%), 2,076H(10.1%) Z2, 0.2%p L2

- (2=l HE &) 22% = 2.1%, 0.1%p &2
- (Lh=921 ZEA) 20,1828 = 18,172, 2,010¥ ZA, 10.0% A
(=Tl U 464FH = 398, 66F A4, 142% UL

- (M=) 5,5158(0.8%) = 4,779 (0.7%), 736B(13.3%) &=L, 0.1%p HLA

- (Q=0l HE 370 1.8% = 2.1%, 0.3%p 7t
(W= ) 5416 = 4,678Y, 738 A, 13.6% LA
Q=02 =7hH 9% = 101Y, 2H =7}, 2.0% =7}
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AV :
-t SSJED
-75 -100
@ 2ol elRelyR el A=l T ol olZ elR el o =elf T ol R el R el o =Ql Tl ol Z Ol R el 9B D Tl Al Z Ol R 0l 9 Z QI Lh =l A F Ol Z 0l 9 Z D Lh = AT Z 0l R LlLh =L ALY Z 0l 2R Ll LhADl A= w;m
’H R 37| o= LR =4 L} B 35 He L) o HE s 52 29 vk
F  OSHAeE Agild SC2 QY =2 =HE = UAS
AR AMZEZXEHZ DB
<E 4> X948 U oxold m|3HX 7 HE(21.68 CHH| 226 H3}
. 2021.6% 2022.6% HH S| UHl B2
= ol214 () AEHI(%) 0l2l4(H) FAHI(%) ol (d) | SAE(%)
A 704,015 100.0 100.0/ 691,155 100.0 100.0 -12,860 -1.8
H | Y=ol 605,450 86.0 86.0/ 596,067 86.2 86.2] -9,383 -1.5
9=0l 98,565 14.0 14.0 95,088 13.8 13.8|  -3,477 -3.5
A 116,997 16.6 100.0/ 108,077 15.6 100.0] -8,920 -7.6
Ag | u=el 84,556 12.0 72.3] 78,236 11.3 72.4]  -6,320 -7.5
Q=0 32,441 4.6 27.7| 29,841 4.3 27.6| 2,600 -8.0
A 44,376 6.3 100.0] 43,034 6.2 100.0] -1,342 -3.0
ol | U=el 38,807 5.5 87.5| 37,679 5.5 87.6/ 1,128 -2.9
Q=0 5,569 0.8 12.5 5,355 0.8 12.4 -214 -3.8
A 155,505 22.1 100.0| 154,278 22.3 100.0] -1,227 -0.8
27| | u=el 125,410 17.8 80.6| 125,816 18.2 81.6 406 0.3
9|20l 30,095 4.3 19.4| 28,462 4.1 18.4| -1,633 -5.4
A 29,003 4.1 100.0| 29,485 43 100.0 482 1.7
2 | u=el 27,847 4.0 96.0 28,252 4.1 95.8 405 1.5
9=l 1,156 0.2 4.0 1,233 0.2 4.2 77 6.7
2 24,762 3.5 100.0] 23,933 3.5 100.0 -829 -3.3
Z=2 | U=e 24,091 3.4 97.3| 23,128 3.3 96.6 -963 -4.0
Q=0 671 0.1 2.7 805 0.1 3.4 134 20.0
A 44,159 6.3 100.0| 40,872 5.9 100.0 -3,287 -7.4
24 [ U=l 43,065 6.1 97.5| 39,878 5.8 97.6| -3,187 -7.4
9|20l 1,094 0.2 2.5 994 0.1 2.4 -100 -9.1
A 29,225 4.2 100.0] 28,162 4.1 100.0] -1,063 -3.6
2 | =9 28,209 4.0 96.5| 27,190 3.9 96.5| -1,019 -3.6
] 1,016 0.1 3.5 972 0.1 3.5 —44 -4.3
2 11,326 1.6 100.0] 12,743 1.8 100.0 1,417 12.5
SM | =20l 10,450 1.5 92.3] 11,880 1.7 93.2 1,430 13.7
Q=0 876 0.1 7.7 863 0.1 6.8 -13 -1.5
A 18,531 2.6 100.0/ 17,302 2.5 100.0] -1,229 -6.6
2z | u=9 17,839 2.5 96.3| 16,641 2.4 96.2| -1,198 -6.7
Q=0 692 0.1 3.7 661 0.1 3.8 -31 -4.5

10 -




S 2021.68 2022.68 dE S| OHl 52

. EPSE)) AHI(%) 01214 () | (%) OlRlA(Y) | ZUB(%)

5] 23,415 3.3 100.0] 22,297 3.2  100.0] -1,118 —4.8

&Y =0l 22,968 3.3 98.1 21,921 3.2 98.3 -1,047 -4.6

2|=09l 447 0.1 1.9 376 0.1 1.7 =71 -15.9

H 19,203 2.7 100.0 17,193 2.5 100.0 -2,010 -10.5

&= =0l 18,805 2.7 97.9 16,804 2.4 97.7 -2,001 -10.6

2/=0l 398 0.1 2.1 389 0.1 2.3 -9 -2.3

H 19,254 2.7 100.0 18,719 2.7 100.0 -535 -2.8

& =0l 18,777 2.7 97.5 18,122 2.6 96.8 -655 -3.5

2|=0l 477 0.1 2.5 597 0.1 3.2 120 25.2

Al 2,625 0.4 100.0 2,637 0.4 100.0 12 0.5

NES =0l 2,216 0.3 84.4 2,201 0.3 83.5 -15 -0.7

2|=0l 409 0.1 15.6 436 0.1 16.5 27 6.6

H 26,972 3.8 100.0 26,048 3.8 100.0 -924 -3.4

s =0l 24,952 3.5 92.5 23,947 3.5 91.9 -1,005 -4.0

2l=0l 2,020 0.3 7.5 2,101 0.3 8.1 81 4.0

H 16,315 2.3 100.0 17,180 2.5 100.0 865 5.3

= =0l 15,324 2.2 93.9 16,130 2.3 93.9 806 5.3

/=0l 991 0.1 6.1 1,050 0.2 6.1 59 6.0

Al 20,646 2.9 100.0 18,570 2.7 100.0 -2,076 -10.1

| =9l 20,182 2.9 97.8 18,172 2.6 97.9 -2,010 -10.0

2|=0l 464 0.1 2.2 398 0.1 2.1 -66 -14.2

H 5,515 0.8 100.0 4,779 0.7 100.0 -736 -13.3

XZ= =0l 5,416 0.8 98.2 4678 0.7 97.9 -738 -13.6

2=0l 99 0.0 1.8 101 0.0 2.1 2 2.0

H 96,186 13.7 100.0| 105,846 15.3 100.0 9,660 10.0

02| W=el 76,536 10.9 79.6 85,392 12.4 80.7 8,856 11.6

2|=0l 19,650 2.8 20.4 20,454 3.0 19.3 804 4.1
 DEHASE AZAD SO Qg =3 2HY 4 US.

: AEZ2ASH =l DB
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